.y

215

21969 .
.

15)o

l-

4,
o
3
>
ey
N
Pz
22

1

L[4

=

e — "

LG

i# B . WE E Jﬁ
ABEELTOST
TIREERAGT E % EF E
LT RE LB THATTE

1T ) FREREA 201208
I 4 PHRRAILKELSE
mws | o [ n [BE
@ wEE
RABEHEER L EHEEES L X




REGEA T O S THEA| - EREEX

S=1/300

£ & 4@ 1 & &

& & KEGEE LD S TIRY - BREER

M E T T G
T i = & 53 3R [E 4 #5201 244 11

T I =% 4% PR RABLUMETSE
= 6 -3 - 9 =
REBELOST g ey g REES ® R =

2 FRi4s % OEt B[ K

RLtHZEMHMEER W ESRES FRE




Nﬂ#ﬁii@BI#@ﬁﬂ - 18 R W (X

§=1/300

I8 Bl=132.7
8 R=15.8

5 M 1 F E
& & AEUEE T O S TIRY) - BREGER
T m&z%%rm@iug@;};ﬁéﬁﬁmmzmﬁ
I=4 PR ILHETE
HEES 6 -4 w R X R
R #HEE
AL BEHEER L HEHEBEERLXE




REEEL DS THEH| - BREERX

§=1/300

AEHBETDST i
biic

£ & & M 1 & K

& % AEHEE LD S TIRY - B R E
T M%E%Lmﬁﬂgégﬁf%wmmﬁm
I=®% PR ILHETE

MEE S 6 -5 w R B R
% B B E

AL BEHEER L HEHEBEERLXE




DL=170.0

DL=160.0

DL=140.0

DL=160. 0

DL=150.0

DL=140.0

DL=160.0

DL=150.0

DL=140.0

ARE R

DL=170.0

DL=160.0
- No.5
HERE
YER (S1)=44.2
DL=140.0
DL=150.0
HERE
ER (81)=0.0
DL=160.0 \
HERE
YIER (S1)=20. 4
DL=150.0 \
DL=170.0
IER
No. 3
DL=160.0
HERE HERE
gmEn=2.1 H)ER (51)=140. 4
DL=150.0
£ s 1 & E
& 4
L BB EBE ) HAZ TR
DL=140.0 & Tt [ SR E G 201 24K HE
I%4 TURRALMETE
sans | oo | w n |B3iE
®EoE HEE

RLELZEHKREER I EHEBEREXE




